| Efficiency vs Dxy |
> 0.2

x L : : ] : : : : : :
© = : : ] : + : : : :
0 0,18t 17 po A A T A
< NS
LTI R T M A T e e
@ L : : ] : : : : : :
e e e e e s
oz

eff

R e e
008+
L T T

.7 R et ot
T S e

J_.l.Q_llll;llll;llll;llll;llll;llll;llll;llll;llll;llll

Ratio

098 56-156-10 =5 05 10 15 20 25

TP dxy (cm)

—=— DQM_TT_original

| Efficiency vs Dz |

—— DQM_TT_newscoreonlyINIT

0.5
20.45
0.4
20.35

dz

ciency

ef

0.3
0.25
0.2

'Y hH

H g 4 o N
U=--------- FEEERERRE R - ool e (9] [P1e 9ot

30 20 <10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


